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Exemple :

Valeurs hémato

16,8
14,8
16,9
16,8
17,4
17,5
16,7
16,2
15,6

15
15,4
16,1
12,1
11,7

15
15,3
11,7

wbc

par animal
rbe plt
12 10,98 22,98
11,3 9,8 2451
11,9 10,98 2285
10,4 10,7 2205
11 11,26 2383
12,7 11,29 2201
12,5 10,66 2293
12,2 10,53 2326
11,3 10,46 2322
11,8 9,88 2361
11,9 10,24 17,98
12,6 10,48 1817
16,6 8,5 355
17,1 7,94 294
13,2 9,89 1770
12 10,21 1711
13,8 15 300
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pev / Coefficients normalisés pcv/ Coefficients normalisés
(Int. de conf. 95%) (Int. de conf. 95%)
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pcv/ Résidus normalisés
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F2 (13,44 %)

Variables (axes F1 et F2 : 34,85 %)
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En pg/100ml
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Stade physiologique
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